Math 217

3-13-06

Answer key for exam 2 study questions

1.  1 – P(no face) = .7468

2.  (a) 0 (b) .5 (c) 0 (d) .25 (e) 1

3.  (a) 10 (b) 8 (c) 2.8284 (d) 8 (e) 2.8284 (f) 22 (g) 36 (h) 6

4.  The values of X + 10 are spread out exactly the same as the values of X (just shifted right) so the standard deviations are equal.  The mean, of course, shifts right 10:  
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5.  (a)  voluntary response (b) simple random sample (c) We will base our conclusions on the results of just one sample, so we need some assurance that almost all samples will give accurate results.  (d) Use a large sample size to reduce sampling variability.

6.  (a) 550 deg. C (b) 32.5 degrees2 C (c) 5.70 deg. C (d) 
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 deg. F, so the standard deviation of Y is 
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7.  (a) 7/8 (b) ½ (c) no.  THH, THT, and TTH are outcomes in both events.  (d) no.  When B happens, A is less likely to happen.  (e)  P(THH or THT or TTH) = 1/8 + 1/8 + 1/8 = 3/8.
8.  No.  In simple random sampling, every possible sample of that size (n = 250) has an equal chance of being selected.  In this sampling procedure, only samples of contiguous words, starting from the first word on a page, are ever selected.

9.  If we label Allen by 00, 20, 40, 60, 80; McCartin by 01, 21, 41, 61, 81; Sturgill by 02, 22, 42, 62, 82; Broady by 03, 23, 43, 63, 83; etc… then Line 141 selects 96 (Stevenson), 76 (duplicate), 73 (Spears), 59 (miss), 64 (Oak), 23 (Broady), and 82 (Sturgill).
10.  (a) .4514 (b)  1 - .766 = .234 (c) The mean would not change; the mean of p-hat is always p since p-hat is an unbiased estimator of p.  The variability of p-hat would increase if the sample size were smaller.

11.  S = {AB, AC, AD, AE, BC, BD, BE, CD, CE, DE} (b) 1/10 (c) 4/10 (d) 3/10

12.  P( 1 then 3 or 3 then 1) = 2/36;  P(1 then 3 or 2 then 2 or 3 then 1) = 3/36.

13.  (a) .253 (b) .747
14.  (a) black residents of Miami (b) only those who were actually interviewed (probably NOT all 300 who were selected) (c) First, only those in predominantly black neighborhoods were interviewed.  They may have different feelings about the police than those in mixed or predominantly white neighborhoods.  Second, people might be reluctant to criticize the police when they’re being interviewed by a uniformed officer.

15.  false, true, true, false

16.  (a) .9389 (b) $1.30 (c) $12.97
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